
N
EM

A
 

246 Download                        @ www.spep.com

NEMA Clip Assembly Kits with Hook Bracket

Item Part Number Qty. Description

1 X1407SS 1 clamp bracket - 304SS, tumbled, .095 [2.41] thick

2 X1402-01 1 spring, 316SS

3 X1403-01 1 .63 [15.9] O.D. washer, 316SS

4 X1404-03 1 1/4-20 x .75 [19.1] long slotted hex bolt, 316SS

Item Part Number Qty. Description

1 X1407SS 1 clamp bracket - 304SS, tumbled, .095 [2.41] thick

2 X1402-01 1 spring, 316SS

3 X1403-01 1 .63 [15.9] O.D. washer, 316SS

4 X1405-03 1 1/4-28 x .75 [19.1] long slotted hex bolt, 316SS

Item Part Number Qty. Description

1 X1407ZN 1 clamp bracket - steel, zinc plated, .095 [2.41] thick

2 X1402-01 1 spring, 316SS

3 X1403-01 1 .63 [15.9] O.D. washer, 316SS

4 X1404-03 1 1/4-20 x .75 [19.1] long slotted hex bolt, 316SS

Item Part Number Qty. Description

1 X1407ZN 1 clamp bracket - steel, zinc plated, .095 [2.41] thick

2 X1402-01 1 spring, 316SS

3 X1403-01 1 .63 [15.9] O.D. washer, 316SS

4 X1405-03 1 1/4-28 x .75 [19.1] long slotted hex bolt, 316SS

Item Part Number Qty. Description

1 X1407SS01 1 clamp bracket - 316SS, tumbled, .095 [2.41] thick

2 X1402-01 1 spring, 316SS

3 X1403-01 1 .63 [15.9] O.D. washer, 316SS

4 X1404-03 1 1/4-20 x .75 [19.1] long slotted hex bolt, 316SS

Item Part Number Qty. Description

1 X1407SS01 1 clamp bracket - 316SS, tumbled, .095 [2.41] thick

2 X1402-01 1 spring, 316SS

3 X1403-01 1 .63 [15.9] O.D. washer, 316SS

4 X1405-03 1 1/4-28 x .75 [19.1] long slotted hex bolt, 316SS

4

1

3

2

see NEMA Hold-Down Clamp 
below for dimensional data

Kit Part No. 1492SS - 1/4-20 Stainless Steel Clamp
Features

	� all parts meet NEMA 4 enclosure access requirements
	� all sub-components may be purchased separately

Kit Part No. 1492SS01 - 1/4-28 Stainless Steel Clamp

Kit Part No. 1492ZN - 1/4-20 Steel Clamp

Kit Part No. 1492ZN01 - 1/4-28 Steel Clamp

Kit Part No. 1492SS05 - 1/4-20 316SS Clamp

Kit Part No. 1492SS04 - 1/4-28 316SS Clamp

24.9.98

18.8.74

1.10 27.9

.70 [17.8] x .29 [7.4] 
CENTERED SLOT

Clamp Bracket Details


